R\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-850 Masonite ST Opaque (LK,DB\C - Drawings\TX-4653.56.dwg, TX-4656

POWERED BYI!
1l

ENDURA

DOOR COMPONENTS MADE IN THE USA

Opaque Steel Door

"NON-IMPACT"
INSWING / OUTSWING

EVALUATED FOR USE IN THE STATE OF TEXAS

The Steel Door system described herein complies with the 2018 International
Residential Code {IRC}, Sections R301 & R609 and the 2018 international Building
Code (IBC}, Sections 1404.13, 1609, 1709.5, 2403 and 2404 subject to the
following conditions:

1. Anchors shall be as listed and spaced as shown in the details. Anchor
embedment to base material shall be beyond wall dressing or stucco.

2. When used in areas requiring wind-borne debris protection this product is
required to be protected with an impact resistant covering that complies
with Section R301.2.1.2 of the IRC and Section 1609.2 of the IBC.

3. Allowable design pressure requirements must be equal o or less than the
design pressure rating shown in the design pressure chart, sheet 1 of this
drawing.

4. Conditions not covered by this drawing are subject to further engineering
analysis.

TABLE OF CONTENTS

SHEET # | DESCRIPTION
1 Typical elevations, design pressures & general notes
Astragal details (Ultimate Multipoint)
Astragal detdails {Ultimate Hunicane)
Door panel details
Horizontal & vertical cross sections
Vertical cross sections
Frame anchoring

Nlosjhn Wi

74" MAX. O.A. FRAME WIDTH

98" MAX. O.A. FRAME HEIGHT {INSWING)
97.125" MAX. O.A. FRAME HEIGHT {OUTSWING)

m

]

S|

tyndon F., Schmidt, P.E.
TEXAS P.E. #104123

813.659.9187

TEXAS BOARD OF PROFESSIONAL ENGINEERS

P.0. Box 230 Vairico FL. 33595
CERTIFICATE OF REGISTRATION # F—11852

BUILDING CONSULTANTS, INC.

Documents Prepared By:

Phone No.:

ENDURA
PART OR ASSEMBLY:
TYPICAL ELEVATION, DESIGN
PRESSURES & GENERAL NOTES

PRODUCT:

LFS
LFS
Y

UPDATE TO 2018 IBC/IRC CODE

10/28/19|ADD "FusionFrame” OPTION &
10/03/18 |UPDATE FOR NEW TESTING

XX

INSWING

+40.0

-40.0

+40.0

-40.0

2
1

REVISIONS

!
<
a
o
z
6

oaE: 11,/08/1

XX

OUTSWING

+45.0

-45.0

+30.0

-30.0

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4656

sHeer 1 oF 7

© 20716 R.W. BUILDING CONBULTANTS INC.



“ON| SINVLIASNGOD aNIaing "m'dx 9102 @)}

Upper Bolt Sleeve - Aluminum

Latch Actuator
Steel

et W S -, soanl \ S

e
T e

o o et WA ko

Aluminum Body

N

Lower Bolf Sleeve - Aluminum

ULTIMATE MULTIPOINT ASTRAGAL

TRty oy o Aoy (Nge—10n 2wmiTn) g — ST90To .
L616'658C18 ON SUOUg ‘ ] ONIISIL M3N 503 3ivaan|gi/c0/01 ¢ | |ui|x|®]| & |
GBGEE 14 OOMIDA OEZ Xxog .o.a\h\h@ ‘AT1GWISSY MO 1Mvd 3000 2di/08! 8102 OL 3ILvadn oOo b~ ~ . m% s
*ONI ‘SINVIINSNOD ONIaIINg sS4 % NOILJO ,ewbijuoisny,  aavi61/8z/01] 2 |l < 2 | 2_
“” > > 1o >
SZLYOL# "I'd SvXaL YA4NANA Slulnl®|E e
‘3'd IPIWIYDS ‘4 UOpukl 1Ay pespdesd sjuswINSeq 1onaoyd Z w m w m &
[74)
(W)
X
—_—— (=
WOLLOg . 2
in =
N~
O
+ ] 23
»nw‘ m o
. 9 &
oo 3 7 - x
: S * N 1
5
b S5 3
H ™~ = -
n o weed
N S0
3 i Q
¥y
i :
¥ 5 T
5 3
N o
5 &
== =<
D d
2 ®
ES) _ 8L _
2 l - s
3]
i M © + M,, %w
[fe)
™~ - Z J .m
S 2 » o]
o < & . O
= O 0 ™ 7
= S n = <
& v ©
Q <
[ %]
b =z
O S
5 <
O T
Zz 89T
|
H (%
(¥
N g &
e i 0
[ g = 2
) £ O A
- ~ N & w
8] ! - o) =
B @ I'e) X
—~ = O Q
a = — W M
Q € o T )
o 0] 1 ..m w W =
0 <
=8z >
dOL 2 g x *
g E :
T *
g ==
7 S o
= 0 g <
= & S X
~N A 0oz pat [oe]
~A Q 3
— S —
- Q L o
> O Z v
©= T 2 ‘
H o Q i
SE I 0
[ |M A
o 0
s O
< O -
™~ = &
Q@ T Q
R & @
TRt N\ W h = 5
V7 X 7 3
&
g
w——d

7'z BMp9gesop-X L\sBuimeld - D\(ga'1) anbedo LS ayuosey 058-Q - 1QL\sul j01daq sexa - §\LNINVYId BINPUI\SIUBID\Y




R\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-850 Masonite ST Opaque (LK,DB)\C - Drawings\TX-4653.56.dwg, 3.2

(2) #8 X 1-5/8" PFH
WOOD SCREWS

UPPER BOLT SLEEVE
{REINF. POLYMER)

Lyndon F. Schmidt, P.E
TEXAS P.E. #104123

e W, siitiieiesetetitesetesesssesees yoee Ve &
s aassassarissnis Bl o
| 0.5" o
i 13 §
} 35“ &
| 476" £ =
8’ l 60.2" g £ 54
=~ 8
ANCHOR SCREW LOCATIONS 5
[« <]
0"
(TRIM COVER REMOVED) < E%
(2) #8 X ]_5/ M PFH 5.5 i 35‘5 1 8 g E‘i
WOOD SCREWS R o IS
HARDWARE LOCATIONS o £
0n=
. < <5
3] g 2
3 (@]
S i
o <
Q. [N
A g x
1.75" | —
Q
i : 59
/ o & o
L 1.63" ' 9.5" s | © 8IZ|2
Ry | il S8l |
= [ | — TRl E
. Elol@| |@
3 BOLT RETAINER SLIDE BOLT ROD ? Eola] B
() 0.063" —={|=— (GF NYLON) (STEEL) SN
2% |w
; 5|
I ' 35|18
L ] | ] < =
jE #8X 3" PFHWS ———|[
== DEADBOLT STRIKE SESR
BOLT RETAINERS PLATE Qe
[
" RENF. POLYMER) STRAGAL SECTION IDE BOLTROD FoxAZ IS J ==
EINF. POLYMER ASTRAGA SLID 1 =5
| (REINF. POLYMER) / LATCH STRIKE i =
f ALUMINUM " PLATE oATE: 11,/08/16
E ASTRAGAL scaE:  N.T.S.
o LATCH & DEADBOLT DETAIL bws. Bv.  JK
CHK. BY: LFsS
ALUMINUM ASTRAGAL ASSEMBLY SRAING o
ULTIMATE HURRICANE ASTRAGAL e s

P.O. Box 230 Valrico FL. 33595
Phone No.: 813.659.9197
TEXAS BOARD OF PROFESSIONAL ENGINEERS

BUILDING CONSULTANTS, INC.
CERTIFICATE OF REGISTRATION # F~11852

SHEET 3 oF 7

© 2016 R.W. BUILDING DONSULTANTS INC.



R:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TD! - DR-850 Masonite ST Opague (LK, DB)\C - Drawings\TX-4653.56.dwg, 4.2

STILE (LVL)
INTERIOR

- 1.75" —|

EXTERIOR

0.81"

m HORIZONTAL CROSS SECTION

291"

35.75" MAX,
PANEL WIDTH
p
(1N mm$
\2/

=

)

L

pn

o

zZ

<

0.

>

<

= )

:

w0

9 X {

SEE HARDWARE
TABLE ’

‘ DOOR PANEL
Masonite

Steel (Wood Edge}

DOOR SKIN: 25 GA. STEEL (0.020" MIN. THICKNESS)
CORE MATERIAL: POLYURETHANE FOAM (1.9 PCF MIN.)

LOCK BLOCK

{(WOOD: 12" LONG)

STILE (LVL)

0.81"

LATCH: KWIKSET SIGNATURE SERIES
DEADBOLT: KWIKSET SIGNATURE SERIES {980/985)

TOP RAIL

(WOOD) ~

25 GA. STEEL
DOOR SKIN

INTERIOR

FOAM CORE

™

BOTIOM RAIL
(WOOD COMP,)

1.78"

/"2 \ VERTICAL CROSS SECTION

\2/

Lyndon F. Schmidt, P.E
TEXAS P.E. #104123

£ oy
[7s]
a b
.9 Zr
¢mw gy
$ "E_IS b &
. IR L
He¥ ‘282 3z
i ftcop 0O
S agw nE
Iy U
| 2 A>n QE
;g Zgo &8
. Nt 5 8R%. Eg
— [+] I
[+'e] By Q’éz [
S Z
(=] [ Zm oy O%
2 25 g
o 50¢ 5}‘_‘
& oan og
o
: D
£ E
b n]
N
po ]
[i]
[+
[a}
[7a]
=~
=<
~
i
Q9
= _
2 |3 22
EXTERIOR > o <N
— w3 o ey
g <©
o NEsE
A
)
3 o
o &
& <
a o
1] Ny
o I B 5
L
[
e)
|0
O
IS
EloIE
ol®d|P| v
N [ zZ
0| o
EiSlel @
e R P-4 B
Elolo| [
s|=Io| |
. 2™
x (L I
T NEE
al=la
< |3
[e)] [ve}
NS
NN
RIS
(@) OD
o
~N ~l=
DATE: 11/08/16
ScALE:  N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
TX—4656

SHEET 4 oF 7

© 2016 R.W. BuUILDING CONSULTANTS ING.



R:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-850 Masonite ST Opaque (LK,DB\C - Drawings\TX-4653.56.dwg, 5.2

23 2X FRAMING 2X FRAMING Y u,
NV, (G>=0.42) DRYWALL (G>=042) DRYWALL Soxrisi g o3 o
— \ — —_ \ T 'S‘V"%'"hus = f""‘."?\” 3 o 2o
) - 3 : :*‘... .:. I . E;: o Ha
q : ™ i/ WS | ERF ) iS By g8 &7
[——— l————l [——— I ext.sHEATHING  Bi]d EXT. SHEATHING  k[|4 . 53% P wt E s G
l fi #1111 ':‘\p".‘ g < g §§ g Q ;i gz
il a ‘(”;‘,"{,—, I8 SR REB 09
ki1 A ¥l lA ¢ &'."‘..éz H - 3 g 4 mé
e Epini e Zawn §
e L #10 X 2-1/2" PFH ¢ Ntiandon 8Q. &6
"! l ) 1 WOOD SCREW , = f o5 B
b SN ¢ ® S0y 0‘6
I | SHIM SPACE Ut NV —{ >~ #10X 3 PFH g Bax ég
fa % £ Ve M WOOD SCREW 2 = £
SHIM SPACE E X é 3
| i 00p0o0) 8
e DOOR PANEL \\ ? DOOR PANEL
@ X —] Ife—‘ X S \ HEAD: PINE \ HEAD: "FusionFrame" {1-PIECE) 2
O
_ ENDURA WEATHERSTRIP ENDURA WEATHERSTRIP EQ
(QEBD/PE 450) (QEBD/PE 650) e
E |y 83
EXTERIOR W INTERIOR EXTERIOR W INTERIOR g |3 &32
g 2 5o
il i /"2 "\ VERTICAL CROSS SECTION /3 VERTICAL CROSS SECTION 3 oF
w Outswing shown - inswing also approved \6/ Outswing shown - inswing also approved 5 x €
‘ =
(2 174" MAX 015 1/4" MAX e
- | =— C'SINK -
RNER PADS \ 7 \7_/ o
= (TYP.) ’ 4 SHIM SPACE (TYP) . ) SHIMSPACE  EXT. SHEATHING S
EXT. SHEATHING JAMB: "FusionFrame’ O
N (1 OR 2-PIECE) 2|9l
JAMB: PINE \ SISE
e e Q_Q(n
0.75" 0.75" 0.75" LT AT A / o #10 X 2-1/2" PFH ?ﬁ e SO S|l |«
R e i [ Hoxaz PR WOOD SCREW ol B
/ Elojw| |
B R e el
2X FRAMING MATE M A Elole| &
COMPQSITE SNAP-ON (G >=0.42) ENDURA WEATHERSTRIP 2X FRAMING S =il
N ; ' (QEBD/PE 650) ENDURA WEATHERSTRIP (G >=0.42) S
CAP . DOOR PANEL (QEBD/PE 650) : 4 RIS
_ \ % D %
b 0l ol |2
~ I
- N N 2 ]| IS 'EZJ
0 r
| s #8 X 2-1/2" PFH #8 X 1"PFHSMS  #8X 2-1/2"PFH LATCH #8 X 1" PFH SMS / #8 X 2-1/2" PFH SCALE. N.T.S.
I et R T IO PpATR I WOOD SCREW S HINGE WOOD SCREW - & 1wpey STRIKE PLATE - HINCE WOOD SCREW owe. ov: UK
JAMB/HEAD JAMB/HEAD  JAMB 8 X 3147 PFH SMS WOOD SCREW #8 X 3/4" PFH SMS o o, LFS
DRAWING NO.:
all e\ o / 1"\ HORIZONTAL CROSS SECTION ™
PINE Fusionframe FusionFrame \6_/ Inswing shown - Outswing also approved TX—4656
(1-PIECE) (2-PIECE) PO

@ 2016 R.W. Bun.DING CONSULTANTS ’NE-'.-




R:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-850 Masonite ST Opaque (LK,DB\C - Drawings\TX-4653.56.dwg, 6.2

\\

EXTERIOR
DOOR PANEL

ENDURA

INTERIOR

v

DOOR SWEEP

/

(DBK-R)

\\

INTERIOR

EXTERIOR

DOOR PANEL

ENDURA \

DOOR SWEEP
(DBK-ZAC)

RS DOOR PANEL
WEATHERSTRIP _ _
(QEBD/PE 650),  'NIERIOR EXTERIOR \
ENDURA /i
WEATHERSTRIP.  INTERIOR EXTERIOR
@@@ (QEBD/PE 650)

—
'

Lyndon F. Schmidt, P.E.

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW

/ 1"\ VERTICAL CROSS SECTION
W Inswing Adjustable Threshold

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW

/ 2\ VERTICAL CROSS SECTION

w Inswing Articulating Threshold
w/ Pin Capture

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW

7“3\ VERTICAL CROSS SECTION
\6/ Qutswing Burmp Threshold

#10 X 2.5" PFH WOOD SCREW OR

1/4" X 2-3/4" ELCO OR TW CONCRETE SCREW

/“ 4"\ VERTICAL CROSS SECTION
w Outswing Bump Threshold

TEXAS P.E. #104123

P.0. Box 230 Valrico FL. 33595
813.659,.8197

BUILDING CONSULTANTS, INC.

Documents Prepared By

Phone No.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

ENDURA
VERTICAL CROSS SECTIONS

PART OR ASSEMBLY:

PRODUCT:

LFS
LFS
Y

UPDATE TO 2018 IBC/IRC CODE

| ; ! - | ! | [ |
4.56" i { 456 i 4.56" 1 4.56" 1 i 4.56" |
1)INSWING ADJUSTABLE THRESHOLD INSWING ADJUSTABLE THRESHOLD 3 }INSWING ADJUSTABLE THRESHOLD 4 ) INSWING ADJUSTABLE THRESHOLD 5 )} INSWING ADJUSTABLE THRESHOLD
ZAIL4565 2 )} aus65iN ZAILAA4565 TAIAA4565FN 7AI4565RDS
| 456" ] - 456" | | 456" — } L! ' 456" — | - 456" —— |
INSWING ARTICULATING THRESHOLD INSWING ARTICULATING THRESHOLD g }INSWING ARTICULATING THRESHOLD o \INSWING ARTICULATING THRESHOLD 10)INSWING ARTICULATING THRESHOLD
& ) acianes 7 ) IAC4565iN ZACLAA4565 ZACAA4565FN ZAC4565RDS
MAX. DESIGN PRESSURE = +35 PSF
] ) | |
= : EDj . (12 i @h@
1] f i i
l—-—————w 4.56" -———————l ! 456" | ! 456" ! ! 456" !
17) QUISWING THRESHOLD 12) OUISWING THRESHOLD 13) QUISWING THRESHOLD 14) OUTSWING THRESHOLD
7OBL4565 7OBA565FN 70B4565RDS FOB4565

10/28/19|ADD "FusionFrame” OPTION &
10/03/18 |UPDATE FOR NEW TESTING

2

—

REVISIONS

Lu
<€
[an)
S
=z
6

oate: 11,/08/1

SCALE:  N,T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4656

SHEET 6 oF 7

© 2016 R.W. BUILDING CONSULTANTS INC.



R\Clients\Endura PERMANENT\B - Texas Dept of Ins\TD! - DR-850 Masonite ST Opaque (LK, DB\C - Drawings\TX-4653.56.dwg, 7.2

JAMB NOTES:

THE PINE OR "FusionFrame" 1-PIECE JAMB MAY BE INSTALLED @ THE HEAD OR SIDE JAMB.
THE FusionFrame" 2-PIECE JAMB MAY BE INSTALLED @ THE SIDE JAMBS ONLY.

CONCRETE ANCHOR NOTES:

6.45" FROM

TOP OF
DOOR PANEL

S —

84.81"

58.69"

32.56" ——mi

-

O |
B

o
.

—
&

M SEE HINGE
L " DETAL 1

SEE HINGE
DETAIL 2

2X FRAMING
(BY OTHERS)

HEAD ANCHORS:

#10 X 2-1/2" WOOD SCREW (PINE JAMB)
#10 X 3' WOOD SCREW (1-PIECE JAMB)

4 (TYP.)
4" (TYP.)

FLOOR SUBSTRATE MATERIAL
HINGE JAMB -\ crere [MIN. 3000 PS|)
WOOD (G >=0.42)

SEE DETAIL 1

SEEDETAIL2 OR 3

4" (TYP.)

FRAME ANCHORING

1. Concrete anchor locations at the corners may be adjusted to maintain the min.

edge distance to mortar joints.
2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusfed fo

maintain the min. edge distance to mortar joints, additional concrete anchors
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded.

3. Concrete anchor table:

W -
TAPCON® 3/14" 1-3/4" 3" 1-1/2
W el & 1-3/4" 1-1/2" 4
TAPCON
ELCO - - - ..
uLtRACoN®| /4 1-3/ 1 4

WOOD SCREW INSTALLATION NOTES:

1. Maintain a minimum 5/8" edge distance, 1" end distance, & 1" o.c. spacing of
wood screws to prevent the splitting of wood.

XX

—%

6" ‘J
(TYP.) —
28" ]

N & 2 . ¢
. me) “1 (TYP.)
! T vy
T N NRT T

JAMB ANCHORS:

#10X2.5" PFH WS

A

A

DETAIL 1

#10 X 2-1/2' WOOD SCREW (PINE/2-PIECE JAMB)
#10 X 3" WOOD SCREW (1-PIECE JAMB)

28"

SILL ANCHORS:

* NOTE: This additional anchor
required for D.P. > 40 PSF.

3/16" X 2-3/4" ITW CONCRETE SCREW

#10 X 2-1/2" PFH WOOD SCREW

1/4' X 2-3/4" ELCO OR
[TW CONCRETE SCREW

OR

#8 X 3" PFH WOOD SCREW

#8 X 1" PFH wsé

N l(o j N
ASTRAGAL STRIKE
PLATE @ HEAD JAMB

N 1 A

5%

% #8X2-1/2" PFHWS

= #8 X 3/4" PFH WS
[~ 4" X 4" HINGE

HINGE DETAIL 1

W
| #B8X2:1/2' PFHWS
e L] o) o
n (. = .‘
#8X 1" PFH wsé:. (o SF=F= #8 X 3/4" PFH Ws
[ 4" X 4"HINGE
A
\
HINGE DETAIL 2
ASTRAGAL PIN CAPTURE

COMPONENT {UNDER CAP)

ASTRAGAL STRIKE
PLATE @ SILL \ 1/2" DIA. HOLE (IN CAP)
SRy ‘ ® 7 o
p= e > = =
1/Z’DIA.-HOLE pepay) 2 DETAIL 2 DETAIL 3
Outswing Inswing Inswing

uj
R
S 0
o X o
= 0
EX 3 48
[ 2. s ) 3"
ACLN Y
c 3 -
9 go"‘! sz
Er T L3 09
2 d g0 nE-
2> &é
Zop &
s §8% 983
& O gy
o xg €
o Zoz b
) £ mg Ol
4 B o
a3 d .5 o
] 50¢ %,‘-‘_’
& oo 3%
g
P -
s & &
E o
=3
Q
O
o
0]
=
S
g |3
a zl =
> m <
i = .
L)
i
<| o2
i L
O s
= o
S &
@ <
a o
%] N>
=
Ly
Q
[S)
3|0
ZI8|o
MNP
EISE
S115] i %]
- = |Z
|0 o
EQE w
OlN|= =
%Om a
S|=lof *
By
S~
SN
|3
o
Dla
L5
YL
NES
BEE
NENE
~f -2
DATE: 11/08/16
SCALE:  N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
TX—4656

SHEET 7/ oF 7

© 2016 R.W. BUILDING DONBULTANTS INC.



